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shifts are also known as ‘beginning’ shifts, the hand moving on the finger that begins the shift. ';

Ascending Move the hand up on the finger that is playing the lower note. Drop the new finger |
directly on the upper note.

Descending Move the hand down on the finger that is playing the upper note. Place the lower |
finger on its note before lifting the upper finger. ‘

_s-ordination In separate-bow shifts, shift with the ‘old’ finger on the ‘old’ bow, play the ‘new’
finger on the ‘new’ bow.
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slay each line through as written (see example below). Play # with an evenly sustained tone,
w1 2 light left hand. The lower bowing gives the correct co-ordination for separate-bow shifts.

» z=ost the middle note of each triplet, playing it as a grace note.

+ play without the middle note at all, as simply one note followed by another. In other words,
‘= zz—note’ rather than ‘note-shift-note’.
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Romantic shifts

Romantic shifts
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Romantic shifts are also known as ‘end’ shifts, the hand moving on the finger that ends =

® Romantic shifts are only played ascending, never descending. Having played the lowe
the higher finger on the surface of the string, without pressing. Shift up on the higher ©

The speed of the shift is fast—slow: shift quickly to just below the arrival note, and then = =

the note. This has been built into the exercise with extra notes between the actual nozss

Co-ordination: In separate-bow shifts, play the ‘old’ finger on the ‘old’ bow, and shi

finger on the ‘new’ bow. (Having finished the lower note, place the upper finger — o
the string, without pressing — az the same time as beginning the new bow. Then move =+

finger together.)
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not shift lightly all the
way to the arrival note,
and then press the
string down vertically;
do not fully stop the
string a long way
below the arrival

note, and then slide
up heavily into it.

2See About slow arrival
speed, page 148
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Romantic shifts
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rst play each section through as written (see example below). Play f with an evenly sustained tone,
d with a light left hand. The lower bowing gives the correct co-ordination for separate-bow shifts.

1ift quickly to the dotted eighth-note (quaver) fast, and slowly into the half-note (minim).
>peat the section, ghosting the sixteenth-note (semiquaver).
host both middle notes, still playing in the dotted rhythm.

ay the shift without the middle notes, as simply one note followed by another. Still shift fast, and
ow down into the arrival note.
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the same notes on the other strings in various octaves:
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Combination shifts

@ Combination shifts
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In a combination shift, both fingers do the shifting. The shift begins with the finger thar « &
and ends with the finger that plays the new note.

| ® Having played the first note, lighten the finger and move it up (or down) the sirme
' place the new finger lightly on the surface of the string, and continue on it t

® The speed of the shift into the arrival note should be slow, like a Romantic shis 75
into the exercise with extra notes between the actual notes of the shift.
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Combination shifts
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irst play each section through as written (see example below). Play # with an evenly sustained tone,
nd with a light left hand.

thost the three middle notes between the actual notes of the shift, still playing the dotted rhythms.

lay without the extra notes, as simply one note to another, with hardly any glissando.
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the same notes on the other strings in various octaves:
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ever possible practise each shift all three ways, with Classical, Romantic and Combination
nediates.

Sonata in A minor, op. 82, mov. III

> Elgar
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Used by permission of Novello & Co Ltd
Violin Concerto in D, mov. I
28 V Tchaikovsky
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Exchange shifts

3 Exchange shifts are those where the fingers o=
EXCh‘ange shifts the shift, e.g., shifting from 2-1 in an ascendi=z

a descending shift.

Using substitutions
Also see Substitutions, page 170
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® Move the hand down on the finger that is playing the upper note. Once the shifizz =
note being shifted to, substitute the new finger.

® Co-ordination: In separate-bow shifts, shift with the ‘old’ finger on the ‘old’ bow. ===
finger on the ‘new’ bow.
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Use a variety of key signatures to cover different intervals:
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1 First play each section through as written (see example below). Shift == =
P p

separate-bow shifts.
2 Then ghost the sixteenth-note, playing it as a grace note.

3 Play without the middle note at all, as simply one note to another.
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Exchange shifts

nifting below the note' @
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~ Love the hand down on the finger that is playing the upper note. Once the shifting finger has gone
- ow the note being shifted to, drop the new finger directly on the new note.

_o-ordination: In separate-bow shifts, shift with the ‘old’ finger on the ‘old’ bow, and play the ‘new’
“=zer on the ‘new’ bow.
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~uriety of key signatures to cover different intervals:
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play each section through as written (see example below). Shift to the sixteenth-note
cuaver) slowly, with a heavy glissando. The lower bowing gives the correct co-ordination for
sat=-bow shifts.

zhost the sixteenth-note, playing it as a grace note.

« wathout the middle note at all, as simply one note to another.
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«2me notes on the other strings in various octaves: 1 These exchange shifts
are similar to Exercise
221 (which used
sul E substitutions). While
sul D 7 = substitutions are more
] usual, shifting below

T = the note can also be
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2 improves both kinds of
shift at the same time.
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Exchange shifts

@ Shifting with both fingers
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® These exchange shifts work in the same way as combination shifts: the shift begins =t
is already playing, and ends with the finger that plays the new note.

® Begin to move the hand up or down on the finger that is playing the first note of === o
shift, lighten the finger and exchange the new finger, and continue like 2 Romantc «nt

® The arrival speed into the destination note should be slow. This has been built in == == =

extra note.'
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' Of course, in reality the
pitches of these extra
notes are indefinite

and do not have to

be played exactly
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irst play each section through as written (see example below). Play f* with an evenly sustained tone,
nd with a light left hand.

host the three middle notes between the actual notes of the shift, still playing the dotted rhythms.
ithout playing the middle notes, shift with hardly any glissando, as simply one note to another.
<zin the shift with the finger that plays the first note, lighten the finger during the shift and exchange

22 new finger.
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== same notes on the other strings in various octaves:
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